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KEE N (kWh)

P2 4R 5R 6A 7R 8A 9R 10R 1A 128 1A 2R 3R Bt SRR BE
SHTEE 129,810 131,263 140,322 165,092 161,258 136,346 140,032 143,162 164,135 170,101 158,181 135,679 1,775,381 101.2%
SH2EE 102,922 90,604 103,086 119,786 146,003 117,810 125,892 134,911 130,862 144,068 130,862 130,862 1,477,668 83.2%
SHIEE 125,306 106,310 125,873 164,832 140,222 124,362 134,610 147,270 171,867 181,204 154,565 129,848 1,706,269 115.5%
SHAEE 115,335 119,745 135,139 168,823 142,915 118,752 115,190 141,519 167,767 158,908 151,480 115,330 1,650,903 96.8%
SHSEE 115,814 110,639 128,385 154,991 133,288 111,164 115,395 134,091 146,369 156,062 136,111 122,548 1,564,857 94.8%
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Bt e 4R 5R 6A 7R 8A 9R 10A 1A 128 1A 2R 3R Bt SHATEBE
SHTEE 7.459 6,236 10,776 14,230 11,334 16,007 8,887 8,956 12,130 13,693 11,870 6,192 127,770 102.4%
SH2EE 4,225 3,512 9,191 12,399 11,053 13,707 8,025 8,746 14,243 11,861 9,303 9,303 115,568 90.5%
SHIEE 6,862 7,053 11,083 13,275 10,682 13,367 9,442 10,549 13,113 15,041 13,055 9,942 133,464 115.5%
SHAEE 6,719 10,561 12,943 16,067 12,575 16,356 7,995 9,090 13,009 13,549 13,558 8,283 140,705 105.4%
SHSEE 7,038 6,946 10,484 14,393 10,854 17,615 9,694 9,437 10,930 12,710 11,702 11,164 132,967 94.5%
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Mt/NEE 5 (kWh)

Bt/ 4R 5A 6R 7R 8A 9A 10A 1A 128 1A 2R 3R it HATERE
BMTERE 15,580 14,920 22,520 21,770 10,280 17,950 17,660 15,840 18,010 18,990 16,930 11,510 201,960 90.6%
SH2EE 9,010 8,720 15,840 18,270 10,000 19,140 18,770 16,400 19,110 19,640 19,110 19,110 193,120 95.6%
SHBEE 13810 16,360 21,614 17,937 12,513 17,220 18,820 15,855 18,500 16,096 19,064 19,057 206,846 107.1%
BHAEE 16,265 14,644 24,627 20,855 10,945 19,037 24,465 11,067 13,906 18,046 14,838 16,530 205,225 99.2%
SHSEE 11,339 15,941 16,050 18917 9,256 18,128 16,637 14,705 16,119 15,707 17,030 15916 185,745 90.5%
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Mi4hEE 1 (kWh)

Bt 48 58 68 7R 8A 9R 10A 1A 12R 1R 2R 3R 18 po: g3 41
SHTEE 2,110 1,820 2,080 2,640 2,230 3,500 2,240 2,530 2,680 3,890 4210 2,060 31,990 101.1%
SH2EE 1,570 1,510 2,670 2,680 3,230 4770 2,260 2,820 3,070 5,080 3070 3070 35,800 111.9%
SHBEE 1,930 2,360 3,630 4,040 2,830 3,930 3,180 3,040 3,000 6,563 6.432 4,568 45,503 127.1%
SHAEE 2,681 3,837 5,225 5,527 4,254 7,649 3,744 2,941 5175 7512 7,139 4,383 60,067 132.0%
SHSEE 3377 4,052 5019 5,259 4,422 7,019 3503 4,165 4,340 6876 6,715 5,448 60,195 100.2%
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K 48 58 68 78 88 98 108 118 128 18 28 38 it POl IES: 42
SHTEE 1,031 970 4,024 5,825 5459 3,552 1314 1,448 1,347 1,111 940 982 28,003 108.7%
SH2EE 1,223 708 315 1,166 1,166 985 809 1,077 881 1,410 1,095 1,095 11,930 42.6%
SHBEE 1,201 1,086 1,153 2,504 1,425 1,264 767 887 998 977 882 790 13,934 116.8%
SHAEE 686 778 999 2,591 1,892 1,705 1,009 1,408 1,627 1,383 1,385 1,232 16,695 119.8%
SHSEE 1,119 1,115 1,823 2,772 3,090 871 922 1518 1,688 1,378 1,447 1,383 19,126 114.6%
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Bff 1 K 38 (m3)

Hfch 48 58 68 78 88 98 108 118 128 18 28 38 H POl IES: 42
SHTEE 98 115 141 144 507 497 484 136 143 82 154 179 2,680 96.4%
SHM2EE 137 24 55 123 104 157 147 152 80 145 122 122 1,368 51.0%
SHIEE 77 106 538 521 323 308 111 131 118 76 92 87 2,488 181.9%
SMAEE 63 102 111 508 376 416 100 126 107 62 15 106 2,192 88.1%
BHSEE 76 108 111 444 457 92 195 153 99 92 100 105 2,032 92.7%
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—RHTEE ——RH2EE —GHSEE —GH4EE —e=RHISEE
Bt /1N K38 (m3)

TN 48 58 68 78 88 98 108 118 128 18 28 38 H POl IES: 42
SHTEE 308 534 1,185 630 107 438 581 395 335 372 445 260 5,590 82.7%
SH2EE 191 157 521 472 310 486 611 449 420 333 345 345 4,640 83.0%
SHIEE 341 349 1,116 418 326 356 439 328 335 251 356 280 4,895 105.5%
SHAEE 304 367 1,591 814 173 417 450 470 382 418 485 520 6,391 130.6%
SHSEE 413 612 1,443 895 160 781 431 333 232 271 340 247 6,164 96.4%
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48 58 68 7R 88 98 108 1A 128 1A 28 3R
—GHAEE ——RH2EE —GHSEE —GH4EE —e—=RHISEE
Bt %7K 3E (m3)

Hi%h 48 58 68 78 88 98 108 118 128 18 28 38 H POl IES: 42
SHTEE 90 138 232 227 41 142 165 133 95 119 136 80 1,508 102.4%
SH2EE 67 109 183 167 122 213 180 210 235 240 220 220 2,166 135.5%
SHIEE 188 234 367 284 158 235 233 216 203 189 109 62 2,478 114.4%
SHAEE 66 124 228 119 30 111 99 67 56 63 76 61 1,100 44.4%
SHSEE 64 109 193 157 41 116 106 102 55 67 98 58 1,166 106.0%
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K (—H%) 4R 5A 6A 78 8A 9AR 108 1A 128 18 2R 3R & Pepug:3:-4:4
SMTEE 1,249 860 818 876 568 503 793 1,276 1,876 1,889 1,800 1,206 13,714 93.5%
SH2EE 444 57 64 76 56 62 251 650 1,303 1,886 1177 872 6,898 50.3%
SHMIEE 575 145 144 149 92 109 244 877 1,940 2,050 1,778 761 8,864 128.5%
SHAEE 534 601 650 549 232 75 462 1,190 1,959 1,898 1,785 648 10,583 119.4%
SHMSEE 863 635 636 540 221 61 579 1,116 1,639 2,008 1,621 1,118 11,037 104.3%
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—GHTEE  —PH2EE  —GH3EE ——GFAEE  —e—HFHISEE
Ah =
REAR(ZEFR) (m3)
K () 48 58 68 78 88 98 108 18 128 18 28 38 L3 HUEEL
SMTEE 7,300 4224 9,276 21,386 28,028 17,033 6,228 8,587 18,957 22673 19,348 12,245 175,285 104.8%
SH2EE 5,939 850 5,193 9411 23,364 11,842 3,844 9,583 20,161 26,384 20,232 12,561 149,364 85.2%
SHMIEE 4534 1,474 8,829 20,806 20,095 9,893 8,384 11,445 20,881 26,838 24,121 12,456 169,756 113.7%
SHAEE 3,180 2,386 11,208 21,997 22,742 12,786 3916 8,749 20,231 23813 19,381 7,244 157,633 92.9%
SHMSEE 2,649 1,703 6,390 20,043 18,081 12,512 3,088 7,715 16,044 19,527 15,658 11,568 134,978 85.6%
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M R (—fi%- F0/82) (m3)
Bfe (— %) 48 58 68 78 8A 9A 108 118 128 18 28 3R Bt peLIES: 4-9
THTEE 53 3 4 1 0 4 0 " 75 138 153 112 554 88.9%
BH2EE 66 1 1 2 1 2 10 64 185 216 203 171 922 166.4%
HHBEE 69 6 3 2 1 3 9 29 170 154 164 135 745 80.8%
SHAEE 21 3 2 2 0 1 2 27 136 158 209 1 672 90.2%
SHISERE 24 4 5 1 1 3 4 35 130 123 127 139 596 88.7%
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B FR A R (ZEER) (m3)
Bfeh (2238) 48 58 68 78 8A 9A 108 118 128 18 28 3R Bt peLIES: 4-9
SHTEE 107 137 588 800 1,383 1,036 16 851 1,090 1,496 1,060 434 8,998 98.2%
SH2EE 75 11 989 1,550 2,381 944 140 646 1,955 1,691 1,404 358 12,244 136.1%
HHBEE 83 130 873 1,481 899 1,024 385 1,087 1,645 2,047 2211 514 12,379 101.1%
SMIEE 7 90 1,672 1,302 1,593 1,420 115 724 1,425 1924 1,651 328 12,251 99.0%
HHISEE 46 30 1,101 1517 2,080 1,642 40 1,102 1,250 1,607 1,648 724 12,787 104.4%
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N
Bt /N R (— %) (m3)
Bty (— %) 48 5A 68 78 88 9AR 108 1A 128 18 2R 3R & Pepug:3:-4:4
SMTEE 303 428 424 232 14 311 390 426 415 536 574 104 4,157 87.4%
SH2EE 12 1" 335 252 14 308 418 416 382 487 570 404 3,609 86.8%
HHBEE 302 402 436 194 21 330 372 425 377 378 611 432 4,280 118.6%
SHAEE 261 438 460 182 12 317 399 424 319 517 618 369 4,316 100.8%
SHSEE 279 401 421 204 22 260 385 410 285 439 518 338 3,962 91.8%
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i (225) 48 58 68 78 88 Y: 108 118 128 18 28 38 M BLIES: 43
SHTEE 636 185 648 1,661 2,290 2,984 367 769 2,495 3,046 3,067 1,464 19,612 99.0%
SH2EE 715 20 1,358 3,128 2,226 4,198 197 1,109 3,193 4,281 3,772 2,645 26,842 136.9%
SHMIEE 310 131 1,593 3070 1,352 2311 929 1316 2,742 3223 4,462 2,646 24,085 89.7%
SHAEE 205 18 2434 4,603 2,215 4,269 481 591 2,774 3,404 3,644 1,361 26,099 108.4%
SHMSEE 153 115 1,228 3978 1,666 4,846 373 1,243 2,771 3,781 3,405 3,107 26,666 102.2%
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—BHTEE ——BH2EE ——HUIEE ——FHIEE —e—HHSEE
B3 4075 R (—fi% - Z25R) (m3)
Bt (—#%) 4R 5A 6R 78 8A 9R 108 1A 128 1R 2R 3R .18 bepik3: 4:4
SHTEE 52 22 46 102 50 76 32 76 180 207 267 128 1,238 99.0%
SH2ERE 70 4 61 144 229 226 29 95 316 274 339 236 2,023 163.4%
SHMIEE 60 26 121 228 75 181 13 198 315 524 609 315 2,765 136.7%
SHMAERE 59 30 109 159 113 141 25 46 316 350 396 126 1,870 67.6%
SHISERE 32 99 186 234 200 230 122 168 287 413 443 407 2,821 150.9%




